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|

_ . X+
1. Graph the linear system and estimate the solution.

(Al {4,2)

(4 {0, 6)

e

. Ix-y=35
2. Solve the linear system: .
x+2y=4
[A] G, 4) [B] (1,2) [D] (2,0)
4x+4y+z=24
3. Solve the systems of equations: 2x—4y+z=0
5x-4y-5z=12
[B] (12,-10.5, 18) [C] (12, -4.5,-6) (D] (7,3.5,0)
—x-5y+z=17

4. Solve the system of equations: —5x—35y+5z=35
2x+5y—-3z=-10

[A] (39,4, 36) [B] (;1,-4, -4) [C](,4,-4) [D] (-39, 4, -36)

5. Tickets to a local movie were sold at $8.00 for adults and $6.50 for students. If 550 tickets
were sold for a total of $3920, how many adult tickets were sold?

[A] 320 [B] 303 [C] 250 (@
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6. ABC Car Rental charges $0.85 per mile plus a flat rate of $39 per day to rent a car. Happy
Ride, Inc. charges $0.50 per mile plus a flat rate of $74 per day to rent the same type of car,
Afier how many miles is the cost to rent a car the same for both companies?

[A] 10 miles [B] 44 miles [C] 84 miles D] /100 miles

7. Consider the graph below: ,
#P Y5k 39 = SoKr T4

Which system of linear inequalities are represented in the graph?

1 = 1
<= x+2 y<—x-1
[a] ¥=27 2™
y>2x+2 y>2x—4
yle—l-Z yzlx—l
[C] 2 [D] 2
y<2x+2 y<2x—4

8. Which point is a solution to the system of inequalities?
[A] (0, 0)

[B]X1,7) FmD vk G
Pornt 15 1w THE
ONEnACe 1=
[D] (-2,-2) o™ .

[C] (-4,0)
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0. Find the maximum value of C subject to the given constraints.

C=4x+3y

Constraints:

X+y<6 s Yt —RKelo

x=2y2—-6.5N % ‘/-1‘7{& +5

2x+4y212-4§m,¢2!-/lﬁ+3

Cuse- PowITS (e,ia‘)’(&,‘aji(g,lﬁ%) i yff'
¢ =1y +38) 20 N
[~
C=4(e)+313) = 9 NN
¢ =2y +3l%) = 20 LT
‘ NI
Poa- 3

10. Consider the graph below:

\ Cabinet B
N

(0.12)

[

List all the points that should be considered when finding the maximum value.

U); lD“),( lfq‘DI(giU)p(@{{})
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1. Which of the quadratic functions listed below is narrower than the parent function f(x)=x"?
‘;-ﬂ:-im_ﬂ—!m

Fx)y=x"+x+5 [B] f(x)=-x"+x-3
1?@9 =0.5x* —3x DI/ F ()% 337 +2

L3 .

2. Which function matches the graph at the right? \913%;31,

A f() = x(x+4)

B] /()=x(x—4)

y Gep-tett oTEMS Do
JE=—x(x+4) y_ats ok ev 4,

] @) =—x(x—4) / 7 \ "i
3. Write the equation y =x” —6x-+5 in vertex form.  Cawgpieke Hoe So vt
[A] y=x(x—6)+5 B] y=(x-3)+14  ya{x*~wn m"}u‘,g ~5
N2
(€] y=(x-5)(x1) (€1 y=(x-3) 4 g (£73)7 -4
4, Sol ¥ +3x=0.
T[A]¥=0,3 [B] x=3,-3 (€] x=1,3 D] x=0,3
“Fockey A (2+3)= 0
2 - | n
5. Solve 2x° +3x-9=0. l%”.;%\xx‘%a') N
TA] x=-6,3 ~ [B] x=6,-3 @3% [D} x=3, —%
6. Solve 2x* —5x+1=0.
=5iJﬁ B x:~5i\/ﬁ 1 x:5i4\/§ D] x= 54442

7. Solve x* —4x+6=0.
[A] x=2++10

8. Solve 5x° —4=41.

[A] x= i@ [B] x= i% [C]m xp=13 [D] x= no real solution
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9. Solve (8x-3)" =30.

:3i\/§5 [B] x=i? [C] x:iém_m (D] x= i_@

8 64

10. The height &, in feet, of an object ¢ seconds after it has been dropped from a height of s feet is
h=—16f +5 . How long does it take an object to hit the ground if it is dropped from a height
of 64 feet?

[A] 8.94 seconds [B] 8 seconds [C] 4 seconds [D]. seconds

11. A ball is thrown upward from the ground (d = 0). It reaches a maximum height of 25 feet 8
seconds after it is thrown. How long will it take it to reach the ground?

[A] 10 seconds [B] 12 seconds [C] 14 seconds [D] 16 seconds

12. In the quadratic equation y = ax® +bx -+ ¢, which of the variables represents the value of the
y-intercept?

e

(A] a (8] b €] <) D] x
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1. Describe the end behavior of the graph as x — —0 and x — +e0.

[A] x— —w, f(x) — 40 and x = +o0, f(x) = +o0
C@xﬁ—w,f(x)%ﬂo and x —> +00, F{(x) — -
[C] x— =, f(x) >~ and x — +x, f(x) > +0

[D] x— —oo, f(x) — —w and x = +c0, f(x} > -0

2. Which of the following functions would have end behavior

x = —0, f(x) — +oo and x = +oo, f(x) > +o

[A] f(x)=x"+2

@(x) =x"+2

[B] f(x)= X +2
[D] F(x)=-x"+2

3. Match each graph to the type of function it represents. (write the letter that corresponds io the
correct graph on the line next to the types listed below,)

[A]
i
[l A A
L ol
| e
‘ i
b i
: : _'[
3 P ,
4 r 1T
™ s/u’s 2 e 4 § 8 U
‘ 2 ;
: A "
iy .
¥ 5
: 3

f(x}

[B] |

D] ¥
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6. Divide (x* +8)+(x+2)

[A] x+4 [B] x*+4 [C] x* +6x D] ¥ —2x+4
7. Write a polynomial function that has zeros -4, 2, -1 and has a leading coefficient of 1.

[A] f(x)=x"—4x"+2x-1 [B] f(x)=x"—3x"—6x+8
f(x)=x"+3x" —6x—8 [D] f(x)=x+8

8. Solve x* +16x*=0
[A] 0,16 [B] 0,4 @f) D] 4, -4
}(2’(‘;(-? \tpﬁ = O

- o (detie vock) | ~lb
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1. Which function matches the graph? K=3
RN
erly verbed |
ats h= R 2 i

1 \ -(i R

{
2. Identify the vertical asymptotes and hotizontal asymptotes of the function:

d:gzu, }S;&-W\-e chr;té/uabf Laa\«. ok \Qa.c “MS Coell . “,_.. .

5 2
Y x=3 yv="7 B = = = e
s X 'Y [ ] X 2=X 3=y 0 \\V&"\‘kbﬁ-—h;
[C] x=-2,x=-3,y=0 D] y=2,y=3,x=2

3, Identify the vertical asymptotes and horizontal asymptotes of "the function:

: A v ™ ) v v-“t-\ 6.5 =
2 e, Bl e o g ot sy 420

A [Al x=4,x=1,y=3 Bl x=-4,x=1,y=0
(k= )xrt)

NGAL® Lk,-\ 1

D] x=-4,x=-1,y=3

4. Solve: 1+ 4 = 2 '(\eeci Covvm ave & GroviA- CF 7’)
r—2 p=-1
::.2: Jr.i = E‘— g
o= —2
\-L) .
3. So@ 4 1 _ 3 ) N\ (=
(:\’H—k;\rz-ﬂ W Tnd 6 o+ Tn+6 = 4(n+b) \ 3

¥ Ftron-

(n+LYXn+1) | ez -i

H
W
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6. Solve: _b+1 6 -,245;»»13@5 ae-2) _ bty b 2b 41§ = 2k -0l 48
‘F‘“"’h’"b"m’ b -2 b (b-2) o> =5k +y =0
.é»(é*-l) (4 i b-{)=©

é*%w—_l&@f v

7. Find the domain and range.: f (x)='(‘;2_% sz :;j M’Ti:, C/i_;.;’:f, @ 3, = 2.
V.h. X=2 X=3

p: (~e,2) U(Zf 5) U(‘%;G@)
L OoMI(T

8. Find the domain and range: f(x)= ——
x+1

D'(_-aé) w.r)l,!{/ wo)
Rifwe=, o) v [ 0,00 )
9. The volume (v) of a cone varies jointly as the height (h} of the cone and the area of the base

(b). A cone has a volume of 140 with height 15 and base 28. Find the volume of a cone with
height 7 and base 12. ‘Lb ‘1

Va5(2XD
oy

10. A pitcher’s earned run avéra,ge (a} varies directly as the number of earned runs (r) allowed
and inversely as the number of innings (i) pitched. Joe Price had an earned run average of 2.55.
He gave up 85 earned runs in 300 innings. What would his average be if he gave up 120 earned

\-\T\
*
F
\s
I~
3
'(ra
.

| rums in 600 innings? e p 6 e . o= 9(}
A il

Li { Bod Goo
gy

o 61;59
3 *~11. The current (I) in an electrical conductor varies inversely as the resistance (r) of the

conductor. The current is 2 amperes when the resistance is 960 ohms. What is the current when
the resistance is 480 chms?

% I-f 2k Frhze
| o 96D - 180
K leml920 L= ¥ amps
12. The amount (a) that a family gives to charity varies directly as its income (i). Last year,

the family earned $32,000 and gave $2560 to charity. How much will they give if they
make $42,000 this year‘?

L= 14_; 03’(47_ aao)

2860 * IA—(Bg/a@cO @
K k=, 0f
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Rational Expressions Worksheet

Reducing Rational Expressions

o

1. Reduce 3 (;{4—3)(})/:;2, L 2+3
¥ =5

2—

2.Reduoe~3v)—2——2§fl—&6 (Y QM "1 "“Ca
’ C?*”%}

3. Reduce xz—3ivc+;zx—-§a (f’-‘ﬁajﬂ) ,((X 'E’.)"""a'[xwf’) C}L«f-@_)()(,@ ?Ci-ci.,
e K (=) —3(x-4) (x»’?‘fx £

. 4. Reduce %_b - '::
b—a .
5. Reduce x;:iS C"( *-(5- 5 = \ (X«:S))
—- x’

6. Reduce 200 +20" ~24x lx (x + K- 2}{(;( %X?{ ‘3’> @
X +2x*-8x %
% ( X T 2 ~ &5 7(%4){;4 2) ~2

Multiplymg and Dmdmg Expressions

3’ ,éf’ 2%

1. Mul’uply = i
zarf V_ff i

3% \ Yy ¥

2. Multiply ";,4/ “’Wf

-4 x*-6x+9

[eete-) DxaTx-s)




3({-—3) gms—_l/x*%') a(x-3) (525D @

3. Divide 3x-9 ,x"+2x-15 ’
' x*—x-207 x*-25 M&H) W
(x-§Yn+u) (xrsXx-5)

s -0[25) LD s

5. Multiply e +5)(g~5]] [ﬂ;_:;_] A (a+5Yart)

Adding and Subtracting Expressmns ) P
(¥ wt*" _ - e
1. Add 22 Sty zXTb vl s KTS
N (x- s)txw)tr%) (x=3)aet Y A=)

{x PBXﬁH) (+3)X-3)

+ |
2Add ﬁog

(x-S

pa ] '
3. Subtract '2+4 > ( ) = M = M}

2x+10 x*—25 z(xfr;)’_,c—g‘) tzﬂ%s")ud{‘)

2(2+8Y (L5 r-C)

4 Add 242 ‘@
X X

Complex Expressions

2/’_&
}t’s*?

M

]

1. Simplify

Go | Lk fw



x-2 =T %AT -
2. Simplify =2 Mﬁ -3) (% +2)(g;-ij’

x4
x+3
3 2 _5 -1 B
3. Simplify 2——— e vt ol R T VO
- 3 Vg Br oL
o 3 x5 R ERN
*
R

i

4. Simplify —- 4

Y+ "L__‘é,__—L; ‘X

Graphing Rational Functions lz_m 1B PELMOS o0_ Lhething CALC
1. Graph cach equation, " o

-1
a y= l b, y=—
X x
2. Graph each equation.
6 6
a y= b, y=——
Y x—2 Y x+2

3. Examine horizontal asymptotes.

4. Graph y= x—4
x—2
5. Graph y=ﬁ3x———1

2x+1



Rational Equations

1. Solve for a: L=§ ‘5(6-‘“3‘{'5?' 9[&.)
a-4 8 Do~ 12> 4§
3@,- GD

o= 26 ‘/
(3) (,(—w 2(3)

2. Solve for x; __=

—2 3 x-2
BA + l(;f:vz) =& b
B2k -4 = b Exmmrn €DVS |, So N0 SoLyTien$
g‘("ﬁ‘/z ;
X =2 S{*-
3. Solve forx: (&) > “/g__. bk 5T "[E’(""Eﬂ =A= 2
X —3JL+2 x-2 3x-3
IS —~23A+3 =X~ 2
x.~?ai)£-1> ?’(’(“') 1RV o
::S" ,/l
1 10
4, Solve fi 3+ =—
ove 0”_{ T Facrer o €, Fonik,
3x* . X _lo S S e &
'SOUER IS O (‘3» s*)(m 2) T 0
5. Solve fory x=?"4
y=2
X/q-'z)a y—“f
Xy - 2x =y~
2% «—ﬁ
}{j -—j = ?..7("‘"/'



